Table 3.2 Bayesian estimates obtained from WinBUGS for the artificial
example, based on 100 replications.

Par AB RMS Par AB RMS
ni 0.009 0.068 Vel 0.008 0.027
753 0.001 0.064 Ve 0.010 0.028
"3 0.003 0.050 Ye3 0.004 0.021
m 0.008 0.058 Ves 0.012 0.046
s 0.000 0.055 Yes 0.000 0.047
e 0.005 0.046 VYes 0.002 0.038
7% 0.005 0.041 Yer 0.009 0.036
g 0.002 0.051 Ves 0.012 0.037
o 0.001 0.048 Yeo 0.001 0.032
K10 0.001 0.037 Yel0 0.006 0.031
A1 0.006 0.021 by 0.001 0.030
A3l 0.001 0.022 Y1 0.019 0.056
Aso 0.021 0.063 V2 0.000 0.066
A62 0.016 0.047 V3 0.003 0.071
A2 0.015 0.043 V4 0.021 0.048
Ao3 0.004 0.046 Vs 0.018 0.062
103 0.003 0.037 o1 0.046 0.107

$21 0.017 0.053

(035 0.088 0.040

Vs 0.013 0.040

Note: ‘AB’ and ‘RMS’ denote the averages of the absolute bias and the root mean
square values, respectively.



